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Public Administration
Paper 1I

eh qomEs
g9uteRt 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAAehd TR TR (50) SgUEREN TR fooidl oTRd. e SRRl g (2)
0 . W Y gredl.

1. Which view of administration states | |  gymam o wRTEART dedta sraee

that it consists of all the activities

e Ffd T JREAE SRR WO ¢
pertaining to administration.

(A) F&fad TRIGRH
(A) Narrower view

(B) Wider view (B) fosga gediehiA

(C) Managerial view (C) HFITATTRIT TR

(D) Integral view (D) ThlcH G=IhH

2. The basic premise of New Public

2. Taclich  SFAETIA 9T 1%'01@[ :
Management is :

(A) g A
(A) Open Government
(B) Paternalistic Government (B) TgF ¥
(C) Large Government (C) foeqd wmeA
(D) Government as social agent (D) 99 gd 3@ I

[P.T.O.



Which of the functions staff agencies

do not include ?

(A) Co-ordination

(B) Planning

(C) Execution

(D) Supervision

Riggs ‘Prismatic society’ represents :
(A) Developing society

(B) Developed society

(C) Underdeveloped society

(D) Modern society

A theory of public organization in
tune with consumer interest and
individual preferences has been

constructed by :

(A) Behavioural approach
(B) Public choice approach
(C) Systems approach

(D) Human relations approach

3.
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WATAUeh! A F TodN HEehT
|

(A) fowgasiar gH=t

(B) foaerdida gu<

(C) Afgerdia TuS

(D) AYHH FAS

Tesh fed STfor UTgeh THdr SIter SRS

gemeETEn faga =S e

(A) I g

(B) eik-fare gt

(C) =Tl gIehiA

(D) AFe HaY TRIhM




Span of Control depends upon :
I. Location

II. Personality of personnel

II. Organizational functions
(A) T and II

(B) T and III

(C) I, II and III

(D) II and III

Match the List I with List II and
select the correct answer from the
code given below :

List I List II
(@) Argyris 1. Job enrichment
(b) Maslow 2. Job enlargement

(¢) Herzberg 3. Theory X and
Theory Y

(d) McGregor 4. Maturity-
Immaturity

5. Hierarchy of

needs
Codes :
@ B () (d)
(A) 2 3 1 4
(B) 3 2 4 5
(®); 4 5 2 3
(D) 4 5 1 3
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93101 Rt Wieitel Yokt ShIOTCAT SIEhTaR
e FEd
I. ¥H

II. FHIFAN AfFagd

III. 9eArqs &
(A) T amfor II

(B) I afor III
(C) I, II smfor III
(D) I awfor 10T

T AR 1 HEfte Sl = A 11
Aefta AN qItAnei odd e
Gehdamed I I e

w1 w11

(@) TAEE 1. HEAGHSHW
(b) WA 2. & faw@r

(¢) wefert 3. fag@m X erfo
fag@ Y
(d) THFN 4. WTeHd-STHTeVd
5. TRSMH YSHAHE
@ b © @@
A 2 3 1 4
(B) 3 2 4 5
(C) 4 5 2 3
(D) 4 5 1 3

[P.T.O.



“Work division is the foundation of
organization, indeed the reason for

organization.” Who said so :

(A) Fayol

(B) Gulick

(C) Taylor

(D) Follett

Who observed that “comparative
public administration started with
no paradigm of its own and

developed none.”

(A) R.T. Golembiewski

(B) Peter Savage

(C) Ferrel Heady

(D) Fred Riggs
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‘T - faamTOT B WEeA= U oTe. | 3T

HA IO AHSA ?

(A) ®AT

(B) i

(C) e

(D) icte

“qAATH® AIRITTET § EEd Al

foets TH=gR. TR Sl A Ao

Ut Al 3™ wivmen fevaE

3.

(A) W2 3. Termsiiasnt

B) fuex =

(C) ™ el

D) ®s s




10.

11.

12.

The model by Riggs, which bears the
features of both; agraria and

industria is called as :
(A) Agro-Industria model
(B) A-I model

(C) Transitia model

(D) Middle range model

The dominant pattern of recruitment

in the USA is the application of :
(A) Spoils system

(B) Special course certificate system
(C) Patronage system

(D) Managerial approach system

The legislature plays fundamental

role in policy-making in :
(A) India

(B) US

(C) UK

(D) France

10.

11.

12.
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Tt enfor Sirenfres € S afvs

I OS] = Tl WU

(A) FH-3irife &g
(B) T-3™ 9T&Y

(C) HhHU Y&y

(D) HEHAN Y&

o o

YIh A= 3T dId

Igd eI

Telial gdtal aral hid.

(A) =T S g
(B) fafyre s1wmasha gaTOTOS ggdt

(C) SISl dgat

(D) HFILATTRIT FRIRH Tgdl

gror FfHdmes fafumeer= gayd gt
HIUCA W@ ST ?

(A) Rd

(B) M@=t [U.S]

(C) weig

(D) HIG

[P.T.O.



13. Match the List I and List II and

select the correct answer from the

codes given below :

(@)

)

(c)

(d)

(A)

(B)

(®)

(D)

List I List II
Fulton Committee 1. 1937
Report
Brownlow 2. 1944
Committee
Report
First Hoover 3. 1968
Commissioner
Report
Assheton 4. 1936
Committee
Report

5. 1949

@ B (o) (d)
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13. et sk I Aefta St =t sAmes 11
et AT gt Sedd endrd
GehdmEd I I eI

Ll i
(@) peed Hiyd 1. 1937
SREIN]

(b) Sl 9fFdr 2. 1944

() T A™M 3. 1968
(99q) SR

(d) 331 gfudt 4. 1936

5. 1949

(@ G @© (@
(A) 4 2 3 1
(B) 4 3 2 5
(&), 3 2 1 5

(D) 3 1 5 2




14. Total period of formal training for

15.

British Civil Servants is :
(A) 24 months
(B) 12 months
(C) 10 months
(D) 5 months

Assertion (A) : In the USA there
is no clear distinction between ‘Head
‘head of

of the State’ and

Government’.

Reason (R) : In the USA both the

offices are merged.

Answer the following by using the

code give below :

(A) Both (A) and (R) are True and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

14.

15.
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fageTmefial I Qahi=n AT=Tieh

BN e IR e e | i s |
(A) 24 Hfed

(B) 12 Hfed

(C) 10 #fed

(D) 5 =fed

foam @A) : AR&d (FgF HEIH)
faur yq@ enfor oA gqE B e
T R |

T (R) : TR (T TEIM) ST

HETAAE ThARIT 3R

e N

Tl 9fgd=l IR e A0 I

fean

(A) 3 (A) 9 (R) SRR 3R 9 (R)
T (A T I LR AR

(B) T (A) T (R) IR 318 g (R)

T (A T AT TR el
(C) (A) =R 3R, 90 (R) Ik 3R
(D) (A)%?ﬂﬁ,w (R) SR 378

[P.T.O.



16.

17.

Assertion (A) : Development
administration makes administrative

Tribunal a necessity.

(R)

administration reconciles different

Reason Development

social interests.

Answer the following question by

using the code below :

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but
(R) s the

explanation of (A)

not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

The

Management’ in the development

main aim of ‘Project

administration is :

(A) Change

development

in the speed of

(B) Change in the strategy
(C) Change in the policy

(D) Change in the resources

16.

17.
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faam (A) ; form WA ® W

Aderd Hed dIgdd.

HIUT (A) : Towg wemes fafa= amfse

fedi™ JAHAREIN &

@il Gigdal IR hed ™ Wit

g S faer

(A) 3= (A) 9 (R) X 378 9 (R)
T (A 9 ITY WS AR

(B) Tt (A) 9 (R) IR 318 g (R)

T (A T AT TR R
(C) (A) T TR 3¢ W (R) ¥ I 318

(D) (A) R I 378 W (R) § IR 3.

forenT™l JRTEATd Yehod STEEATIAT H&H

¥ WA TR

(A) fowmr=n TdHe) a5
(B) FE=Hd &g

(C) HNUMa seed

(D) HEIEAE ded




18.

19.

20.

The challenges before development

administration is :

(A) Effective implementation of

programmes

(B) Revision of goals with reference

to the review
(C) Reaching the unreach
(D) Control of expenditure

Development administration in
India suffers mainly from the lack

of :

(A) Development priorities
(B) Development machinery
(C) Popular support

(D) Technology input

Development Administration is
distinguished from traditional

administration by its :
(A) Planning component
(B) Experimentation
(C) Openness

(D) Need for coordination

18.

19.

20.
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faermd ISMEATEHIi 3Tee= el

qE

(A) HEIRUET hrETH  STHASSTIN

(B) STEATCIER SEr<id aed

(C) dfadmda diR=m

(D) TEferR s

ARAHE ToehTd JemeAd J&ac @elld
F IR :

(A) Tommardia TRy

(B) foera ==om
(C) < ufdsn

(D) qifEer EH

fohT® 9omEa URUTh  ImEATY &I

el Sedid afles 3718,

~

(A) 1

IS ERSrC
(B) TATRTETd
(C) Teraom

(D) e Eo o MG S R B K|

[P.T.O.



21.

22.

The Indian planning process is :
1. Indicative

2. Sequential

3. Directive

4. Democratic

Choose the correct answer from the

code given below :

A 1

(B) 1 and 2

(C) 3 and 4

D) 4

Mixed economic planning gives :

(A) equal role to both public and

private sector

(B) gives edge to public sector

(C) controlling position to public

sector

(D) Free play to both the section

22.
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IR FRieUSa Trella JHel o7
1. GoAH®

2. hHYGd

3. Tidwes

4. RIS

Teiel Higamyd Arg o= e :
(A) 1

(B) 1 A 2

(C) 3 a7ftr 4

(D) 4

[al o

g sreigaddiar |

ISEIEE

(A) HEsieh o @ faarmr 9 E
JfgerT 319d

(B) GreSif1er favrmen sifeerar o19q

(C) wreSe faum fasomeas gon
T

(D) S faummT o FeurT ST

10
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23. The Central Vigilance Commission | 23. {53 Gdehdl SN T GTeiel a6
was established in : B
(A) 1947 (A) 1947
(B) 1948 (B) 1948
(C) 1951 (C) 1951
(D) 1953 (D) 1953
24. The office of ‘District Collector’ was | 24. fSclfeeRRAT HRATCAT= TATIA HRATA
set up in India in : el e il e s [
(A) 1773 (A) 1773
(B) 1772 (B) 1772
(C) 1600 (C) 1600
(D) 1858 (D) 1858
25. ‘Lokpal Bill’ was first introduced in | 25. YR Thdial fas=es @eiia aui
India in : Heud 3
(A) May 1968 (A) 7 1968
(B) August 1971 (B) 3= 1971
(C) July 1977 (C) 1 1977
(D) December 1989 (D) fedsr 1989
11 [P.T.O.



26.

27.

28.

The chairman of State Public
Service Commission can be removed

by :

(A) President

(B) Chief Minister

(C) Governor

(D) Chief Justice

Kothari Committee was appointed
in :

(A) 1974

(B) 1975

(C) 1977

(D) 1978

‘Allocation of seats in Upper House’
is included in which schedule of

Indian Constitution.
(A) Ist

(B) IInd

(C) IlIrd

(D) IVth

26.

27.

28.
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TSI ATl SN A HHT
T YRR HIME 3R ?

(A) Tegadt
(B) H&Aws
(C) T=IuTd

(D) &A=

ISRl AT g @reliel a8l o
A

(A) 1974
(B) 1975
(C) 1977

(D) 1978

YA TSTeeT=A1 Wielial TR aie
qUTETdIe SR-a1eul USal gHTfase

helell ] ¢

(A) TfRferse 1
(B) dffyrse 2
(C) ufiferee 3
(D) dfRf3rse 4

12
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29. The Budget system was first | 29. YA NI T5d Wl 'EIF'H%IEE
introduced in India by : E S
(A) Financial Resolution 1860 (A) fa=fm =@, 1860
(B) Government of India Act 1919 (B) WRE IEETET HEEl, 1919
(C) Lee Commission 1923 (©) & ST, 1923
D) Constituti f India 1950 N
(D) Constitution of India (D) YR TsTEeAd adg, 1950
30. National Development Council was . PN . e
P 30. U T Heum=t fsmren deufd
set up in India for plan : . . .
YAl S U[HIS] sh{UYId 3:”@ :
(A) Formulation
(A) el fAfHd
(B) Evaluation
(B) o
(C) Co-ordination between centre
C) Hs-TF §H<F
and state (©) =3
(D) Execution (D)
31. A writ issued to public official to do 31. YMHHF SHEHTAICA H FITAE A
something is called : TS
(A) Habeas Corpus (A) BellsTg hidH (S&1 goaafteno)
(B) Certiorari (B) wfdzfisi@ (e
(C) Mandamus (C) "WeHH (YR
(D) Injunction (D) T5HIE (i)
13 [P.T.O.



32.

33.

34.

Which of the following category is
included in the 2011 Caste based

Census ?

(A) Scheduled Castes

(B) Scheduled Tribes

(C) Other backward classes
(D) All of the above

Which Constitutional Amendment
Act provided constitutional status to

rural local institutions in India ?
(A) 64th
(B) 72th
(C) 73rd
(D) 74th

PRI’s own resources of finance

are :
(A) Fee and Taxes
(B) Loans

(C) State Grants

(D) Central Grants

32.

33.

34.
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2011=F1 STdl STemd SAoTHH e
GeieTdeh! Shivea Gorm=n SO hell
A ?

(A) gfad St

(B) gfad StHwdt
(C) ST AME ot

(D) ot we

URATHED UIFHOT TMfeh IMEATAT SeATcH

TSIl HITTCAT HeAT T HIIcA™

[ECSIE

(A) 64at T TEE
(B) 72 =T geEdt
(C) 73ef =T ge&it
(D) 745t HEA SO

T TS TR a3 el
R M | FC

(A) ek T B
(B) &t

(C) T A
(D) g4 TEH

14
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35. Sources of Hypothesis are : 35. Jirtédohh:“ 3H {g“(rn(d 3:|'|%‘ :
(A) General Culture (AL e
(B) Normative Theories .
(B) oyl fagm
(C) Authority
(C) 3fushR
(D) Reliability
. . ) CIEG
36. What is not the aim of social
research ? 36. WM HINEAMT SI0MI & F@ar ?
(A) to understand the functioning (A) GOSN FHEE qiEd ges
of society ’ ’
(B) QIS HHEATE HoTh
(B) to evaluate the social problems
(C) wHEEt g
(C) documentation of problem
(D) to study the individual (D) o Fell ST AR T
behaviour and social action =Ml A
37. The new research technique is | 37. HIyAR™ 9 93 @l R :
the : .
(A) ST FAE A
(A) Case study technique
(B) Wehed o
(B) Project technique
: (C) HIurk
(C) Computer technique
(D) Management technique (D) =AFET T
15 [P.T.O.



38.

39.

40.

Lottery method is :

(A) Simple random sampling
(B) Multi-stage sampling

(C) Multi-phase sampling
(D) Non-probability sampling

First Chairman of Central Social

Welfare Board was :

(A) Rajkumari Amrit Kaur
(B) Aruna Asafali

(C) Durga Bai Deshmukh
(D) Sucheta Kriplani

To encourage small-scale and
cottage industries was the main

thrust of the :

(A) Industrial Policy Resolution,
1956

(B) Industrial Policy Statement,
1977

(C) Industrial Policy of 1980

(D) New Economic Policy of 1991

38.

39.

40.
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gred 9gd WRUN

(A) Tt eAfafha fae

(B) &g e e
(C) =g feerdt fere

(D) gyremar fras fes

(ST AN oA Hedd Ufea 318

WIeAIAdeh! hI0 Bl ?

(A) st TIRART 3T &R
(B) #Hdt ST&UN STE®3TeAl
(C) it gierE Serg@

(D) it g Faa

@Y SO IR A Ui Q0 @l
Trelial gRomn g&d 391 el

(A) YR STENfTeR o= 3Ud, 1956
(B) YRdE 3iifes feea, 1977
(C) YRdE AEnfies &, 1980

(D) Fa-319 €RUT, 1991

16



41.

42.

43.

The basic operating principle under

liberalisation is :

(A) Regulated economy

(B) Market economy

(C) Participatory economy

(D) Totally deregulated economy

Disinvestment means :

(A) to indicate the process of
privatization

(B) to indicate the process of
globalization

(C) to indicate the over-
capitalization

(D) to indicate the inefficient

management

Who considered private property to
be the cause of all social and

economic evils ?
(A) Simon

(B) Marx

(C) Dimock

(D) Amartya Sen

41.

42.

43.
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QT & HESRI dd @i

e :

(A) FrEf stefeaeen
(B) NI SAefeaee

(C) Hewrl refezraee

(D) wqul fafsor stefeereen

frfderes =

(A) @ISTRTum= gfshan

(B) SINTfdehiehTom=it gfshan

(C) Wiedes 3Tfee <xiehal

(D) HAEATIT  3TehTH TSIl

T T Td WIS i e it
s @ISFIl HI=A 3R,

(A) HIFA
(B) WA
(ORELIED

(D) = A

17

[P.T.O.



44. Answer the question by using the

45.

code given below :
Assertion (A)
provides more goods and services.
Reason (R) : Globalization has
increased the exploitation of the

: Globalization

poor.

Code :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true (R)
is not the correct explanation
of (A)

(C) A is true but (R) is false

(D) A is false but (R) is true

Match the List I and List II correctly

and select the correct answer from

the code given below :

List I List II
Community Development Focusofthe
Experiment Experiment
(@ Shantiniketan 1. Demonstration
(b) Kosamba 2. Culture
(¢) Nilekhori 3. Agriculture
(d) Martandom 4. Use of machine
Code :

@ b)) © (@
(A) 3 4 1 2
(B) 2 3 4 1
©) 1 2 3 4
(D) 1 4 3 2

NOV -21211/11

~

44, Wt 9igd 9 e el 93

45.

I foar .

faem (A) : STTfaeRTeRtomes o] & Hel

aifyer gTONa T B

SHIOT (R) : STk ok L0l TR INo07

ElES e R

wigar :

(A) T (A) U1 (R) sRISR 3T, 901
R) ¥ (A) 3 FTT TISSHIU
e

(B) I (A) & (R) s{IsR 31&d 91 (R)
T (A T AT TSI R

(C) (A) T SR 3T 901 (R) T =&
e

D) AT I% AR Y0 (R) & SN
e

W 1 gdie SiEt g=t IO 9l amg
TSRt S[eed Weitel Higdered A 3w
e .

w1 w11
(wfewn fawma (g feem)
AT 9=
(@) TMAFRAT 1. YAETh
(b) HrEa 2. T
¢ Toert 3. i
(d) Te™ 4. IJAEN AR
Higar :

(@ b)) @© @

(A) 3 4 1 2
(B) 2 3 4 1
(C) 1 2 3 4
(D) 1 4 3 2

18
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46. The 64th Constitutional Amendment | 46. 64 9 S g&il fa8Fe® ThANT R
Bill was introduced in Lok Sabha by Y med 2
the :
(A) Indira Gandhi Government (A) % el
(B) Rajiv Gandhi Government (B) TSia e wmes
(C) V.P. Singh Government ©) = . fam e
(D) Narsimha Rao Government )
(D) RfHg & e
47. Political education through local
government (Ripon) means : 47. T IMEARH TSRt o =oN
1. Increased representation 1 gfatfyae 9=
2. Emphasis on deliberative . .
. 2. TAicH® HETE SR
functions
3. Accommodating local will 3. Tenfyeh fereromen qHTe
4. Accepting responsibility for 4. TMERT A SEEER SRR
official acts
Trefldl dfgd wEE ara i feren
Choose the correct answer from the
code given : A 1
A1
& (B) 2 =fo 3
(B) 2 and 3
C) 2
C) 2
(D) 3 and 4 D) 3 s 4
19 [P.T.O.



48.

49.

50.

The essence of 73rd and 74th
Constitutional Amendment Act is
that which has :

(A) Rationalized local government
system

(B) Constitutional status to local
government

(C) Made local govt. more
representative

(D) Realized social justice through

reservation
Local government employees in
France enjoy :
(A) Full political freedom
(B) Freedom to vote
(C) No political freedom
(D) No political freedom to senior
officers
Assertion (A)
makes

: Strong local
government national
government strong.

Reason (R) : Local and National
Systems are independent :
Answer the question by using the
codes below :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

1s not correct

(©)
(D)

48.

49.

50.
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73 9 6441 A GEKITE R Eleitel JHT

e :
(A) Tfieh IMEA e G

(B) Tifaer IMEATAT SeAcHS:  <sit

[ aY o

(C) Tenfaeh AT fdHifeendd aTe

(D) STRETUNGA WA === el

T i IEEa RHER

(A) 901 TSRE WA

(B) HAQIArET gekeh

(C) USRI T 3T49E

(D) aftss srfym=ardrad TSR
A 319

o= (A) : 99TE TR ITEE U

IMEA GAE .

HROT (R) : Tk I o T 96

A 3.

Hfgd=l oI e AREed 99 SW

forar .

(A) 3 (A) 9 (R) SRR 3R 9 (R)
T (A T I R AR

(B) 3=l (A) d (R) R 318 g (R)
T (A I I RS AR

(C) (A) & TR 3 Ry (R) ¥ IF
CHIES

D) (A) T I% AR ([R) T U
3T

20



ROUGH WORK NOV - 21211/11

21 [P.T.O.



ROUGH WORK NOV -21211/11

22



23

NOV - 21211/11



24



Test Booklet No. F
EESEIECTICN
Signature of Invigilators
1o
2 s Seat No.
PUBLIC (In figures as in Admit Card)
ADMINISTRATION Seat No. (In Words) «...oveveevereeererenn.
NOV -21211 Paper II e,

Answer Sheet No.
[Maximum Marks : 100

Time Allowed : 75 Minutes]
Number of Pages in this Booklet : 24

Instructions for the Candidates
Write your Seat Number in the space
provided on the top of this page. Write
your Answer Sheet No. in the space
provided for Answer Sheet No. on the
top of this page.

Write and darken Test Booklet No. on
OMR Answer Sheet.

This paper consists of Fifty (50)
multiple choice type of questions.
Each item has four alternative
responses marked (A), (B), (C) and (D).
You have to darken the responses as
indicated below on the correct
response against each item.

Example: (A ® @ @

Where (C) is the correct response.
Your responses to the items for this
paper are to be indicated on the
Answer Sheet only. Responses like ( x )
(v) (/) and light shaded responses
will not be considered/evaluated.
Read instructions given inside
carefully.

One Sheet is attached at the end of the
booklet for rough work.

You should return the test booklet and
answer sheet both to the invigilator
at the end of the paper and should not
carry any paper with you outside the
examination hall.

Answers marked on the body of the
question paper will not be evaluated.
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